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TS19/1

* Which one among the following statements appropriately
defines the term ‘drain theory’ as propounded by Dadabhai
Naoroji in his work ‘Poverty and un-British Rule in India’?

A) That a part of India’s national wealth or total annual
product was being exported to Britain for which India got no
material returns

B) That the resources of India were being utilized in the
interest of Britain

C) That the British industrialists were given a opportunity to
invest in India under the protection of the imperial power

D) That the British goods were being imported to India
making the country poorer day by day

01/08/2021




TS19/2

* Which one of the following sets of conditions is necessary
for a good cultivation of wheat?

A) Moderate temperature and moderate rainfall

B) High temperature and heavy rainfall

C) High temperature and moderate rainfall

D) Low temperature and low rainfall




TS19/3

e The Sufi saint who maintained that devotional music was
one way of coming close to God was:

A) Muin-ud-din Chishti

B) Baba Farid

C) Saiyid Muhammad Gesudaraz

D) Shah Alam Bukhari




TS19/4

* In India, the interest rate on savings accounts in all the
nationalized commercial banks is fixed by

A) Union Ministry of Finance

B) Union Finance Commission

C) Indian Banks’ Association

D) None of the above




TS19/5

* Which of the following is not an adverse effect of oil spill?

A) It acts as a barrier for the sunlight and obstructs them
from reaching the sea floor

B) It affects the immune system and causes skin cancer
among human beings

C) It affects the food chain

D) It brings changes in behavior of animal because of
which its food searching capacity and ability to escape
from its predators gets affected




TS19/6

* Four resolutions were passed at the famous Calcutta
session of Indian National Congress in 1906. The question
of either retention OR of rejection of these four
resolutions became the cause of a split in Congress at the
next Congress session held in Surat in 1907. Which one of
the following was not one of those resolutions?

A) Annulment of partition of Bengal

B) Boycott
C) National education

D) Swadeshi




TS19/7

* Consider the following:

1. Mahadeo Hills
2. Sahayadri Parvat
3. Satpura Range

What is the correct sequence of the above from the north
to the south?

A)123
B)213
C)132
D)231




TS19/8

* Consider the following statements:
1. Femur is the longest bone in the human body
2. Cholera is a disease caused by bacteria
3. ‘Athlete’s foot’ is a disease caused by virus

Which of the statements given above are correct?

A)1and 2
B) 2and 3
C)i1and 3
D) 1,2and 3




TS19/9

» With reference to local winds consider the following
matches:

1. Foehm. a) Warm and dry wind
2. Harmatten b) Eastern Sahara to Western Africa
3. Santa Ana. c) Western USA California

Select the correct match from the options given below:

A)1and 2
B)1and 3
C)2and3
D) All of the above




TS19/10

* B R Ambedkar was elected to the Constituent Assembly
from

A) West Bengal

B) The Bombay Presidency

C) Pune

D) Baroda




TS19/11

* Consider the following statements:
1. Narsimha Saluva ended the Sangama dynasty and
seized the throne for himself and started the Saluva
dynasty
2. Vira Narasimha deposed the last Sauva ruler and sized
the throne for himself
3. Vira Narashimha was succeeded by his younger brother

Krishnadeva Raya
4. Krishnadeva Raya was succeeded by the half-brother
Achyuta Raya.

Which of the statements given above are correct?

A)1,2and 3 B) 2,3and 4
C)1and 4 D) 1,2,3and 4




TS19/12

* Match List I with List I and select the correct answer using
the codes given below the Lists:
List I List I1

a) Indian Institute of Geomagnetism 1.Coimbatore

b) International Advanced Research 2.Mumbai
Centre for Powder Metallurgy
and New Materials

c) Salim Ali Centre for Ornithology 3. Jabalpur
and Natural History

d) Tropical Forestry Research Institute 4. Hyderabad

Code: a b C d. a b C
1 4. B)1 4 2
1 3. D)1 3 2




TS19/13

* Consider the following events during India’s Freedom
struggle:

1. Chauri-Chaura Outrage
2. Minto-Morley Reforms
3. Dandi March

4. Montagu-Chelmsford Reforms

Which one of the following is the correct chronological
order of the events given above?

A)1324
B)2413
C)1423
D)2314




TS19/14

* Which one of the following is not correctly matched?

A) Fiji. ::: Suva
B) Finland. :: Oslo
C) Guyana. :: George Town

D) Lebanon. :: Beirut




TS19/15

* Which one of the following four Vedas contains an
account of magical charms and spells?

A) Rig-veda

B) Yajur-veda
C) Artarva-veda

D) Sama-veda




TS19/16

* The Montague-Chelmsford Report formed the basis of:
A) the Indian Councils Act, 1909

B) the Government of India Act, 1919

C) the Government of India Act, 1935

D) the Indian Independence Act, 1947




TS19/17

* Which one of the following is part of the electoral college
for the election of the President of India but does not
form part of the forum for his impeachment?

A) Lok Sabha

B) Rajya Sabha

C) State Legislative Councils

D) State Legislative Assemblies




TS19/18

e Lativa does not share its borders with which one of the
following countries?

A) Russia
B) Estonia
C) Lithuania

D) Poland




TS19/19

 Match List I with List II and select the correct answer
using the codes given below the lists:

List I List I1

a) Black Sea 1. Bulgaria
b) Red Sea 2. China
c) Yellow Sea 3. Eritrea

d) Caspian Sea 4. Kazakhastan

Code: a
A) 1
B) 2
C) 1
D) 2




TS19/20

* The river most mentioned in early Vedic literature is
A) Sindhu
B) Sutudri

C) Sarasvati

D) Ganga




TS19/21

* Consider the following international languages:

1. Arabic
2. French
3. Spanish

The correct sequence of the languages given above in the

decreasing order of the number of their speakers is:

A)321
B)132
C)321
D)123




TS19/22

* In last one decade, which one among the following
sectors has attracted the highest Foreign Direct
Investment inflows into India?

A) Chemicals other than Fertilizers

B) Service Sector

C) Food Processing

D) Telecommunication




TS19/23

* Which one of the following texts of ancient India allows
divorce to a deserted by her husband?

A) Kamasutra
B) Manavadharmashastra
C) Sukra Nitisara

D) Arthashastra




TS19/24

* Which of the following pairs is not correctly matched?

A) Reinhold Messner. ::: Computer Technology

B) Harlow Shapley ::: Astronomy

C) Gregor Mendel. ... Heredity Theory

D) Godfrey Hounsfield. .2 CT Scan




TS19/25

* Which of the following authors won the Brooker Prize
twice?

A) Margaret Atwood

B) ] M Coetzee
C) Graham Swift

D) Jan McEwan




TS19/26

* High temperature and low pressure over the Indian Sub-
Continent during summer season draws air from the
Indian Ocean Leading to the in blowing of the:

A) South-East monsoon
B) South-West monsoon
C) Trade winds

D) Westerlies




TS19/27

* A ‘black hole’ is a body in space which does not allow any
radiation to come out. This property is due to its

A) very small size

B) Very big size

C) very high density

D) very low density




TS19/28

* The Nyokum Yullo Festival is related to which of the
following states?

A) Manipur

B) Mizoram

C) Arunachal Pradesh

D) Nagaland




TS19/29

 Match List I with List II and select the correct answer
using the codes given below the Lists:

List I(New names) List II( Old names)
a) Benin 1. Nyasaland

b) Belize 2. Basutoland

c) Botswana 3. Bechuanaland

d) Malawi 4. Dahomey

Code:
A)
B)
C)
D)




TS19/30

* With reference to Nehru Report, consider the following
statements
1. [t was drafted by J L Nehru in 1928 and demanded
Poorna Swaraj
2. [t didn’t accept the idea of separate electorates, but joint
electorates with reserved seats for minorities.

Which of the above statements is/are correct?

A) 10nly
B) 2 only
C) Both1and 2
D) None




TS19/31

* Consider the following statements about the Urban
Reform Incentive Fund.

1. [t aims to provide States with incentives to undertake
the essential urban sector reforms

2. [t receives funds from International Bank for
Reconstruction and Development (IBRD)

Select the incorrect statement:

A) 10nly

B) 2 only

C) Both1and 2

D) None of the above.




TS19/32

* Given below are the names of four energy crops. Which
one of them can be cultivated for ethanol?

A) Jatropha

B) Maize

C) Pongamia

D) Sunflower




TS19/33

* Consider the following statements:

1. Baking soda is used in fire extinguishers
2. Quicklime is used in the manufacture of glass
3. Gypsum is used in the manufacture of Plaster of Paris

Which of the statements given above is/are correct?

A)1and 2
B) 2and 3
C) 10nly
D) 1,2 and 3




T519/34

* What is the correct sequence of the following events?

1. August offer

2. The INA trial

3. Quit India Movement

4. The Royal Indian Naval Rating’s Revolt

Select the correct answer using the codes given below:

A)1234
B)3124
C)1342
D)3142




TS19/35

* Which of the following institutes have been recognized as
the Institutes of National Importance by an Act of
Parliament?

1. Dakshina Bharat Hindi Prachar Sabha, Chennai
2. National Institute of Pharmaceutical Education and
Research, Mohali

3. Sree Chitra Tirunal Institute for Medical Services and
Technology. Thiruvanthapuram

4. Lakhmibai National Institute of Physical Education,
Gwalior

Code:
A)1,2and 3 B) 3and 4
C) 1,2,and 4 D) 1,2,3,




TS19/36

* Domestic electrical wiring is basically a
A) series connection
B) parallel connection

C) combination of series and parallel connections

D) series connection within each room and parallel
connection elsewhere




TS19/37

* Which bacterial strain, developed from natural isolates by
genetic manipulations can be used for treating oil spills?

A) Agrobacterium

B) Clostridium
C) Nitrosomonas

D) Pseudomonas




TS19/38

* Consider the following statements:
1. The Chinese pilgrim Fa-Hien attended the fourth Great
Buddhist Council held by Kanishka
2. The Chinese pilgrim Hiuen-Tsang met Harsha and
found him to be antagonistic to Buddhism

Which of the statements given above is/are correct?

A) 10nly

B) 2 only

C) Both1and 2
D) Neither1 nor 2




TS19/39

* With reference to the Constitution of India, which one of
the following pairs is not correctly matched?

A) Forests .2 Concurrent List

B) Stock Exchanges ::  Concurrent List

C) Post Office Saving ::: Union List
Banks

D) Public Health ::: State List




TS19/40

* Which of the following were the aims behind the setting
up of the World Trade Organization (WTO)?

1. Promotion of free trade and resource flows across
countries

2. Protection of intellectual property rights

3. Managing balanced trade between different countries
4. Promotion of trade between the former East-Block
countries and the Western world.

Select the correct answer by using the codes given below:

A)1,2,3and 4 B) 1and 2
C)2and 3 D) 1and 4




TS19/41

* Which one of the following statements is not correct?

A) The largest Buddhist monastery in India is in Assam

B) The language Konyak is spoken in Nagaland

C) The largest river island in the world is in Assam

D) Sikkim is the least populated State of the Indian Union




TS19/42

* Interstate Councils owe their existence to:
A) Provision in the Constitution

B) Act of Parliament

C) Recommendation of the Planning Commission

D) Resolution adopted by the Chief Ministers Conference




T519/43

 The device that allows data to be sent over telephone lines
with the help of binary signals is known as:

A) Modem
B) Extender
C) Splitter

D) Router




T519/44

* Consider the following tasks:

1. Superintendence, direction and conduct of free and fair
elections

2. Preparation of electoral rolls for all elections to the
Parliament, State Legislatures and the Office of President and
Vice-President

3. Giving recognition to political parties and allotting election

symbols to political parties and individuals contesting the
election
4. Proclamation of final verdict in the case of election disputes.

Which of the above functions of the Election Commission of
India?

A)1,2and 3 B) 2,3and 4

C)1and 3 D) 1,2 and 4




T519/45

 Match the List I with List II and select the correct answer
using the code given below the Lists:

List ] List II

a) Jumpa Lahiri 1. Science and Environment
b) Sunita Narain 2. Novel-writing

c) Naina Lal Kidwai 3. Film Industry

d) Ravina Raj Kohli 4. Banking
5. Television media

Code:
A)
B)
C)
D)




TS19/46

* There is no reservation for SC and ST for Lok Sabha in:

A) Arunachal Pradesh

B) Jammu and Kashmir

C) Meghalaya

D) All of the above




T519/47

* Consider the following statements:

1. The ‘Bombay Manifesto’ signed in 1936 openly opposed
the preaching of socialist ideals

2. It evoked support from a large section of business
community from all across India

Which of the statements given above is/are correct?

A) 10nly

B) 2 only

C) Both1and 2
D) Neither1 nor 2




TS19/48

» Match List I with List II and select correct answer using
codes given below the Lists.:

List I List II

a) Shikha Tandon 1. Badminton
b) Ignace Tirkey 2. Swimming
c) Pankaj Advani 3. Lawn Tennis

d) Rohan Bopanna 4. Snooker
5. Hockey

Code:
A)
B)
C)
D)




T519/49

* Consider the following statements:
1. The Speaker of Lok Sabha has the power to adjourn the
House sine die but on prorogation. It is only the President
who can summon the House

2.Unless sooner dissolved or there is an extension of the
term, there is an automatic dissolution of the Lok Sabha by
efflux of time, at the end of the period of five years, even if
no formal order of dissolution is issued by the President

3. The Speaker of Lok Sabha continues in office even after the
dissolution of the House and until immediately before the
first meeting of the House

Which of the statements given above are correct?
A)1and 2 B) 2and 3
C)i1and 3 D) 1,2and 3




TS19/50

* Which of the following pairs are correctly matched?

1. [dukki ::: Thermal Power Station
2. Sabarigiri ::: Hydro-electric Project
3. Ghatprabha :::  Irrigation Project
4.Ramganga ::: Multipurpose Project

Which of these pairs are correctly matched:

A) 2,3,and 4
B) 1,2,3and 4
C)3and 4
D)1and 2




TS19/51

* There are only two known examples of cave paintings of
the Gupta period in ancient India. One of these is
painting of Ajanta caves. Where is the other surviving
example of Gupta paintings?

A) Bagh caves

B) Ellora caves
C) Lomas Rishi cave

D) Nasik caves




TS19/52

* Which of the following pairs are correctly matched?

List I

a) AD 1767-69
b) AD 1790-92
c) AD 1824-26
d) AF 1824-26

List II
1. First Anglo-Maratha War
2. Third Mysore War

3. First Anglo-Burmese War
4. Second Sikh War

Select the correct answer using the codes given below

A) 2and 4
B) 3and 4
C)1and 2
D) 2and 3




TS19/53

* In which one of the following Union Territories, do the
people of the Onge tribe live?

A) Andaman and Nicobar Island

B) Dadar and Nagar Haveli

C) Daman and Diu

D) Laksadweep




T519/54

* Consider the following statements:

1. The highest criminal court of the district is the court of
District and Session Judge

2. The District Judges are appointed by the Governor in
consultation with High Courts

3. A person to be eligible for appointment as a District Judge
should be an advocate or a pleader of seven year’s standing or
more, or an officer in Judicial service of the Union or the State

4. When the Session Judge awards death sentence, it must be
confirmed by the High Court before it is carried out
Which of the statements given above are correct?

A)1and 2 B) 2,3and 4
C) 3and 4 D) 1,2,3and 4




TS19/55

e The hormone insulin is a

A) Glycolipid

B) Fatty Acid
C) Peptide

D) Sterol




TS19/56

* Consider the following statements:

1. In the third battle of Panipat, Ahmed Shah Abdali
defeated Ibrahim Lodi

2. Tippu Sultan was killed in third Anglo-Mysore War

3. Mir Jafar entered in conspiracy with the English for the
defeat of nawab Siraj ud daulah in the Battle of Plassey

Which of the statements given is/are correct?

A)1,2and 3

B) 3 only
C)2and3

D) None of these




TS19/57

* The Archaeological Survey of India is an attached office of
the Department/Ministry of:

A) Culture
B) Tourism

C) Science and Technology

D) Human Resource Development




TS19/58

* Consider the following statements:
1. The First Session of the Indian National Congress was
held in Calcutta
2. The Second Session of the Indian National Congress
was held under the Presidentship of Dadabhai Naoroji
3. Both Indian National Congress and Muslim League
held their sessions at Lucknow in 1916 and concluded
with the Lucknow Pact

Which of the statements given above is/are correct?

A)1and 2
B) 2 only
C)2and3
D) 3 only




TS19/59

 Mittelsand model is related to which of the following
economic sectors:

A) MSME’s
B) Agriculture

C) Infrastructure

D) Port development




TS19/60

* The name of the famous person of India who returned the
Knighthood conferred on him by the British Government
as a token of protest against the atrocities in Punjab in
1919 Was:

A) Tej Bahadur Sapru

B) Ashutosh Mukherjee

C) Rabindra Nath Tagore

D) Syed Ahmad Khan




TS19/61

* Consider the following statements:
Some of the main features of the Government of India
Act, 1935 were the:

1. abolition of dyarchy in the Governor’s provinces

2. power of Governors to veto legislative action and to
legislate on their own abolition of their own

3. abolition of the principle of communal representation

Which of the statement given above is/are correct?

A) 10nly

B) 1and 2
C)2and3
D) 1,2 and 3




TS19/62

* Consider the following statements:
1. The Islamic Calendar is twelve days shorter than the
Gregorian Calendar
2. The Islamic Calendar began in AD 632
3. The Gregorian Calendar is a solar calendar

Which of the statements given above is/are correct?

A) 10nly

B) 1and 2
C)1and 3
D) 3 only




TS19/63

* Consider the following Princely States of the British Rule
in India:
1. Jhansi
2. Sambalpur
3. Satara

The correct chronological order in which they were

annexed by the British is

A)123
B)132
C)321
D)312




TS19/64

* Consider the following statements:
1. Non-function of lachrymal gland is an import symptom
of deficiency of Vitamin A
2. Deficiency of Vitamin B1 can lead to indigestion and
heart enlargement
3. Vitamin C deficiency can lead to pain in the muscles
4. Deficiency of Vitamin D causes increased loss of
Calcium ions in urine

Which of the statements given above are correct?
A)1and 2

B) 2,3 and 4

C) 1,3and 4

D) 1,2,3and 4




TS19/65

* Consider the following statements:

1. Indra Gandhi Center for Atomic Research uses fast
reactor technology

2. Atomic Minerals Directorate for Research and
Exploration is engaged in heavy water production

3. Indian Rare Earths Limted is engaged in the

manufacture of Zircon for India’s Nuclear Programme
beside other rare earth products

Which of the statements given above are correct

A)1,2and 3 B) 1and 2
C)1and 3 D) 2and 3




TS19/66

* Consider the following
1. Increase in Indirect Taxes
2. Increase in cost of production
3. Hoarding & speculation
4. Increase in foreign investment

Which of the above are causes of cost push inflation

A)1,2and 3

B) 2,3and 4
C)1and 4

D) All of the above




TS19/67

» Salts of which of the following elements provide colours
to fire works?

A) Zinc and Sulphur

B) Potassium and Mercury

C) Strontium and Barium

D) Chromium and Nickel




TS19/68

* Consider the following statements:
1. Reserve Bank of India was nationalized on 26 January,

1950
2. The borrowing programme of the Government of India

is handled by the Department of Expenditure, Ministry of
Finance

Which of the statements given above is/are correct?

A) 10nly

B) 2 only

C) Both1and 2
D) Neither1 nor 2




TS19/69

 Match the List I with List II and select the correct answer
using the codes given below the Lists:

List I List I1
a) My Presidential Years 1. S. Radhakrishnan
b) The Hindu View of Life 2. V'V Giri
c) Voice of Conscience 3. N Sanjeeva Reddy
d) Without Fear and Favour 4. R Venkataraman

Code: b
A)
B)
C)
D)




TS19/70

» Standard 18-carat gold sold in the market contains:

A) 82 parts gold and 18 parts other metals

B) 18 parts gold and 82 parts other metals
C) 18 parts gold and 6 parts other metals

D) g parts gold and 15 parts other metals




TS19/71

* Consider the following statements:

1. Adam Osborne produced the first portable computer
2. [an Wilnut created the first cloned sheep

Which of the above statements are correct

A) 10only

B) 2 only
C) Both1and 2

D) Neither1 nor 2




TS19/72

* Which one of the following statements is not correct?

A) Gulfs with narrow fronts and wider rears experience

high tides

B) Tidal currents take place when a gulf is connected with
the open sea by a narrow channel

C) Tidal bore occurs when a tide enters the narrow and
shallow estuary of a river

D) The tidal nature of the mouth of the river Hooghly is
of the crucial importance to Kolkata as port




TS19/73

* Consider the following statements:

1. Toothless mammals such as pangolions are not found in
India

2. Gibbon is the only ape found in India

Which of the statements given above is/are correct?

A) 10nly

B) 2 only

C) Both1and 2
D) Neither1 nor 2




TS19/74

* Which one of the following Article of the Constitution of
India says that the executive power of every State shall be
so exercised as not to impede or prejudice that exercise of
the executive power of the Union?

A) Article 257

B) Article 258

C)/ Article 355

D) Article 356




TS519/75

 Match List I with List II and select the correct answer
using the codes given below the Lists:

List I List II

a) Coal 1. Giridh

b) Copper 2. Jayamkondam
c) Manganese 3. Alwar

d) Lignite 4. Dharwar

Code: d
A) 2
B) 1
C) 2
D) 1




TS19/76

* Which one of the following does not border Panama?

A) Costa Rica
B) Colombia
C) Pacific Ocean

D) Venezuela




TS19/ 77

 Match List I with List II and select the correct answer
using the codes given below the tables:

List I (National Park) List II (State)
a) Kanger Ghati National Park 1. Chhattisgarh
b) Negerhole National Park 2. Haryana

c) Kugti Wildlife Sanctuary 3. Himachal

Pradesh
d) Sultanpur Bird Sanctuary 4. Karnataka
Code: a b
A 3 2
B) 1 4
C) 3 4
D) 1 2




TS19/78

* Consider the following geological phenomena:

1. Development of a fault

2. Movement along a fault

3. Impact produced by a volcanic eruption
4. Folding of rocks

Which of the above cause earthquakes?

A)1,2and 3
B) 2 and 4

C) 1,3and 4
D) 1,2,3and 4




TS19/79

* Which one of the following statements is not correct?

A) In Lok Sabha, a no-confidence motion has to set out
the grounds on which it is based

B) In the case of a no-confidence motion in Lok Sabha, no
conditions of admissibility have been laid down in the
Rules

C)A motion of no-confidence, once admitted, has to be
taken up within 10 days of the leave being granted

D) Rajya Sabha is not empowered to entertain a motion of
no-confidence




TS19/80

 Corruption Perception Index is released by:

A) Transparency International
B) World Economic Forum
C) United Nations

D) None of the above




TS19/81

 Match List I with List II and select the correct answer
using the codes given below the lists:

List I List II
a) Gopnath Beach 1. Andhra Pradesh
b) Lawsons Bay Beach 2. Kerala
c) Devbagh Beach 3. Gujarat
d) Sinquerim Beach 4. Goa
5. Karnataka

Code:
A)
B)
C)
D)




TS19/82

* Which one of the following statements correctly describes
the Fourth Schedule of the Constitution of India?

A) It contains the scheme of the distribution of powers
between the Union and the States

B) It contains the languages listed in the Constitution

C) It contains the provisions regarding the administration
of tribal areas

D) It allocates seats in the Council of States




TS19/83

* Which one of the following statements is correct?

A) Cirrus clouds are composed of ice crystals

B) Cirrus clouds exhibit a flat base and have the
appearance of rising domes

C) Cumulus clouds are white and thin, and form delicate
patches and give a fibrous and feathery appearance

D) Cumulus clouds are classified as high clouds




TS19/84

* Consider the following crops:

1. Cotton

2. Groundnut
3. Maize

4. Mustard

which of the above are kharif crops?

A)1and 2

B) 1,2 and 3
C)3and 4
D) 1,2,3and 4




TS19/85

* Who among the following discovered X-Rays?

A) Rutherford
B) Roentgen
C) Maxwell

D) Torricelli




TS19/86

* Which one of the following sequence indicates the correct
chronological order?

A) Shankarachara- Ramanuja - Chaitanya

B) Ramanajua - Chaitanya - Shankaracharya

C) Ramanujaa - Sankaracharya - Chaitanya

D) Shankaracharya - Chaitanya - Ramanuja




TS19/87

* Tarun Bharat Sangh an organization based in a village
near Alwar, Rajasthan, has became famous because of

A) cultivation of generically modified cotton

B) rehabilitation of women victims of AIDS

C) livelihood projects for destitute rural women

D) rainwater harvesting




TS19/88

* Which among the following is the hardest part in human
body?

A) Bone
B) Enamel
C) Dentine

D) Cementum




TS19/89

* During the Indian Freedom Struggle, who among the
following proposed that Swaraj should be defined as
complete Independence free from al foreign control?

A) Mazharula Haque

B) Maulana Hasrat Mohani

C) Hakim Ajmal Khan

D) Abul Kalam Azad




TS19/90

* Which one of the following pairs is not correctly

matched?

A) Railway Staff College

B) Central Organization
for Railway Electrification

C) Wheel and Axel Plant

D) Rail Coach Factory

Vadodra

Varanasi

Bangalore

Kapurthala




TS19/01

* Consider the following statements:
1. Smart Card is a plastic card with embedded microchip
2. Digital technology is primarily used with new physical
communication medium such as satellite and fibre optics
transmission
3. A digital library is a collection of documents in an
organised electronic form available on the internet only

Which of the statements given above is/are correct?

A) 3 only
B) 1and 2
C)2and3
D) 1,2 and 3




TS19/92

* Consider the following statements about Sikh Gurus:
1. Banda Bahadur was appointed as the military leader of
the Sikhs by Guru Tegh Bahadur
2. Guru Arjun Dev became the Sikh Guru after Guru Ram
Das
3. Guru Arjun Dev gave to Sikhs their own script
Gurumukhi

Which of the statements given above is are correct?

A) 10nly

B) 2 and 3 only
C)1and 3
D)1and 2




TS19/93

 Match List I with List II and select the correct answer
using the codes given below the Lists

List I List II

a) United Nations Development 1. Nairobi
Programme

b) United Nations Environment 2. Vienna
Programme

c) United Nations Industrial 3. Berne

Development Organization

d) Universal Postal Union 4. New York

Code: a b

A) 2

B) 4

C) 2

D) 4

3
1
1
3




T519/94

* Which one of the following pairs is not correctly

matched?

A) Pitt’s India Act

B) Doctrine of Lapse

C) Vernacular Press Act

D) Ilbert Bill

Warren Hasting
Dalhousie
Curzon

Ripon




TS19/95

* Consider the following Viceroys of India during the
British Rule:
1. Lord Curzon
2. Lord Chelmsford
3. Lord Hardinge
4. Lord Irwin

Which one of the following is the correct chronological
order of their tenure?

A)1324
B)2413
C)1423
D)2314




TS19/96

* Consider the following statements:
1. Damodar Valley Corporation is the first multipurpose
valley project of independent India
2. Damodar Valley Corporation includes thermal and gas
power stations

Which of the statements is/are correct?

A) 10nly

B) 2 only

C) Both1and 2
D) Neither1 nor 2




T519/97

 Match List I with List II and select the correct answer
using the codes given below the lists:

List ] List II
a) CNG 1. Carbon monoxide and Hydrogen

b) Coal Gas 2. Butane, Propane
c) LPG 3. Methane and Ethane

d) Water gas 4. Hydrogen, Methane, Carbon
monoxide

Code: d
A) 4
B) 1
C) 1
D) 4




TS19/98

* Who was the last ruler of the Tughluq dynasty of the
Delhi Sultanate?

A) Firuz Shah Tughuluq

B) Ghiyas-ud-din Tughluq
C) Nasir-ud-din Mahmud

D) Nasrat Shah




TS19/99

» Match List [ with List Il and select the correct answers using the
codes given below the Lists

List I
a) Article 14B

b) Article 15

c) Article 16 D
d) Article 17

Code:

List II

1. The State shall not discriminate
a§ainst any citizen on grounds only
of religion, race, caste, sex, place of
birth or any of them

2. The State shall not deny to any
person equality before law or the

equal protection of laws in India

3. ‘Untouchability’ is abolished and
its practice in any form is forbidden
4. There shall be equality of
opportunity for all citizens for jobs
under the State

d

2




TS18/100

* Global Arms Trade Treaty to regulate the global arms
industry has recently come into effect. With reference to
it consider the following statements.

1. India is a signatory party of Global Arms Trade Treaty
2. The treaty along small and big weapons also sought to
regulate nuclear strategic weapons.

Select the correct statements:

A) 10nly

B) 2 only

C) Both1and 2

D) None of the above




Answers

32
33
34
35
36
37
38
39
40

42
43
44
45
46
47
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3
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Answers
Q A QA Q A _Q A _Q |A_
51 A 61 B 71 C 81 B or D

02
93
94
95
96
97
08
99

72
73
74
75
76
77
78

79
80

52
53
54
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